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Ql. If 35% are the passing marks. A student gets 200 marks yet

fails by 24 marks. What is the maximum marks ?

afe 35% JAtof 3ich ¥l T BT B 200 31 Urd 81a £, e oft ag 24
3h1 A ATABS 2 ATl 21 AT B 3ich FAT 2?2

(A) 820

(B) 560

(C) 640

(D) 680
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Q2. 40% are the passing marks. A students gets 250 marks yet
fails by 38 marks. What is the maximum marks ?

Jeftof @1 2q 3Maea® 3ic 40% g1 fheft B1a &t 250 37 fASd € Ueey
fdse oft ag 38 3iehl & 3reyeltof 8 witan 21 sifdaa sis g 2

(A) 720

(B) 750

(c) 800

(D) 840
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Q3. In an exam of 300 makes a student gets 75 marks. If she had
scored 6 more makes she would have attained passing

percentage. What is the passing percentage ?
300 3l 6 T Ulen A v BT B 75 3 fAS 21 30 I&A 6 30

3ies Ut gid at ag Ielftof giat Jiva ufderd v &e e Jwdiof glet ava
ufderaaarg ?

(A) 25 300 \ S &X\MJ
OEL - 6 299
(c) 35 | X/
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Q4. A candidate scoring x% marks in an examination and fails by ‘a

marks, while another candidate who scores y% marks gets ‘b’ marks
more than the minimum required pass marks. What is the maximum
marks for the examination ?

ve udteneff ves udten & x% 3ich UId Hear & 302 o' 3wl A A% Tgar ¢, wafd
T 3 Ueiamedf Gt 5% 37 U SHedl 8, 3 geldd dTaeds Idivf 3isl & 'b’
3 3Hfde fAea €1 udten & fBe sifdwad sie T 2?

()l (g)lved
100(a+b) 100(a-b)
(c) 1o (D) 222
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Q5. In an examination a student got 32% marks and failed by 4
marks. While another student got 35% marks and got 5 marks
more than marks. Find the max. marks in the examination?
faseft adtan 3 ves BTA 32% 37 YT Hear € 3012 98 4 3wl & srefeiof
&l STaT 21 91 U R BTA 35% 30 W ded ¢ 3e ag Jeftof sisl &
5 ﬁas’ufaasmm%maenasqurfasmaﬁ?
i sy g2
—x 100

(B) 400 [ =
(€)350 -\ 5

(D) 250 \ /
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] | 7 Q6. A student got 28% of the total marks and failed by 14 marks. Another
student got 32% marks and got 18 marks more than the pass marks. Find
-]y +13 TS BTA o $S 3 BT 28% WIE a1 3012 14 3ia6Y A 3rspfion 21 91 va 3
8 BT & 32% 3% I faan site <ol siel & 18 siw sfils wra f&3, &t =ma

O =2xi00 5 32—Y47 g
A O > L‘ / ‘ (i) Max. Marks (T’Tfa?) Z"/\ | &
( = Roo (ii) Passing marks (3iurfe) KXY S S k- 25

_ (iii) Pass Percentage (3fiurfes %) &
@ & 1 RN (A) 800, 238, 29.75% (B) 700, 228, 39.75%
oS 4 (A) 800, 238, 29.75%
pr2 g7 1 2244y

(C) 600, 258, 29.75% (D) 500, 268, 49.75%
3

@ ) ‘)\\P¢ = &Q( = 28-( - SN2 '
“Syp ~135/ I 3 U—Re
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Q7. In a speed test a student got 30% marks and failed by 25

“4of marks. In the same speed test another student got 40% marks

5:?5’:-} and secured 25% marks more than the essential minimum
—AY 2R / marks. Then max. marks set for speed test?

fseft udten 3 ve BTA 30% 3id T Hear g 31T ag 25 30wl & siefefiof

5
L5 5o & wiran g1 3t udten A g BTA 40% 3% UNd &edr ¢ e ag Jsftof
= tee 3BT & 25% 3ieh e T Bear 21 Tften & quifes Sia Hiford|
(A) 1350

BWhaL Yy ..

4 ' (c) 1050

’&‘\ (D) 1150
—ﬁlgx
5
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Q8. If a student score 43% marks, then he is failed by 72 marks,
but when he scores 57% marks, he is passed by 40 marks. Find
passing %

afe &g BT 43% 3id U Hedl ¢ al a8 72 3Pl & Bes & ATl &,
Sfthel 51d 9g 57% 3@ UTd Hedl ¢ dl 92 40 il A Jefiof gar 2
JAI0Ties % SiTd He
(A)53% u3 ~
@ssv | 1 L, || 2o
©s2% 33 W ¢ Y
(D) 50%
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Q9. When a student scores 28% marks then he is failed by 58
marks. But when he scores 41% marks then he is failed with 6
marks. Find passing %

Uid B3 BIA 28% 3 YT Hedl ¢ dl 9 58 3Pl & JABS &l Aral gl
Sfdhol 719 a8 41% 3ic UTd &Hedl &, dl g 6 3(hl & AT ITAPS &l

oATar 21 3d1onies % /:xmrﬁ\
- YU / s
- 2,y

(B) 43% - - 6 y
(C) 40.66% _ |

6 1M4+1§/.
(D) 41.5% =18y, /
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Q10. In an examination, the maximum possible score is N while
the pass mark is 45% of N. A candidate obtains 36 marks but
falls short of the pass mark by 68%. Which one of the following is

then correct?

v dten & siflddd THT N & Adfd I1d &1 R 45% g1 Th
J3SHteare 36 31 UG Hedl 2, Til UTH 3idh A 68% A &l [AFfafAa

AABA-T A2 ?
(A) N <200 (B) 243 <N < 252
(C)N<253 (D) 201< N < 242




—+66 L
9 xtoo- a
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|0 / N | 1 QIL. It is compulsory to get 40% marks to pass. If A gets 10% less marks with

' O¢ compared to pass marks. B get ll%% less than A and C gets 4113—7% less

). marks than the total marks of A & B. Then find the % marks of C?

T faseft wdten ot 3efivf Beat & e 40% siss ufAars 1 af2 A Fefivf it & 10% et
I el 2 B B, AR 11:% 3ih & UId edl ¢ 3 C, ATBH F3 DI A 41-%
17 | sies e T Bea1 21 ¢ & % 30 Sa Hiford B

(A)a2%  (B)53%
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Q12. In an examination, A obtained 10% more marks than B, B obtained
20% more marks than C and C obtained 32% less marks than D. If A

obtained 272 more marks than C, then the marks obtained by B is:

TH GEie &, A A B & 10% 34fels5, B A ¢ & 20% 31fels i wra fde fdhgc A
\D & 32% HA 3i% WId eI af2 A Bt ¢ & 272 3w 34fAd WA ZC, dl B B F&
fesaat sis A gE ? < cR

(A) 850 A |QoK\0 éﬁf{x;.c

P ——

S C 12 s
()1020 w l02.0
‘f‘la__ —

() KLY
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QI13. A student got an aggregate of 60% marks in 5 subjects in ratio 10: 9: 8:

7: 6. If passing marks are 55% of max. marks and each subject has

maximum marks are same. In how many subjects did he pass the exam ?
ves faareff 5 fawal 3 10:9:8:7:6 & 3re(ura A 60% 3ics urar 21 af2 J<fiof 3ies 55%
¢ duT gl fawa & sifeledat 3ich daTe ¢ dl 92 fbaa fAva A gamen 2

= (94942 148
(B)3 "' "\7 A\{D =\ Q — =3 Go |-
&

(c) 4 \ ss-‘] - ?
(D) 5 \ °2'%f




1 +5o/

Ql4. Meena scores 40% in an examination and after review, even
though her score is increased by 50%, she fails by 35 marks. If her
post-review score is increased by 20%, she will have 7 marks more

than the passing score. The percentage score needed for passing the

/\\ examination is:

GoY I/ aﬂmwuﬂmﬁjoqmmhﬁzmﬂaﬂasm,maﬂmm
L | 50% ¢ HATdT 2, 9€ 35 3l & Ues & AT 21 Afe I&7eh Jae-eaftan wHie 20%
-35  Gop) =2 ge1 2, at 3 ure Iefiof 3iss & 7 siw sifde g adten sfivf et & B
f& S HTaeds® Ufderd s 2 ?
— | ~
e (A)70 ()80 (c)75  (D)6O
—€
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QI15. In an examination there were 37%% girls. Only 62%% of the total

girls and 75% boys were 2 passed. If number of failed girls be 342

then find the number of failed boys

wwmﬂwml P B3l & 62,% F3HAT 3 F& FFH1
& 75% B3 UTd g1 af2 342 &3fdal b g8 ad fbaat s bes g1

(A) 250

(B) 270

B U

2QVylo = 280
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Q16. In the half yearly exam only 70% of the students were passed. Out of
these (passed in half yearly) only 60% students are passed in annual

exam. Out of those who did not pass the half yearly exam, 80% passed in

For annual exam. What per cent of the students passed the annual exam?
dIfties Tie & dbde 70% B UrH g1 351 & Sde 60% €l arftfes udtan &
@ UTH g1 d BT Al 3Faifte qeten & urd oiél g4, I & 80% B diftfes e

& e @ A aifdfes wéien A fhaa ufderd sra ura g4 2

b (A) 70% (B) 75%

»9
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Q17. In a class, 60% of the students are girls and the rest are
B boys. There are 30 more girls than boys. If68% of the students,

B -06= 30 including 30 boys, pass an examination, the percentage of the

&3
_66 . ‘L'lﬂ girls who do not passi is.
2, j K TP HEN A, 60% BTA S3fdbdi ¢ 31T dThl 33 &1 Bl i qosell A 30

\_/ é,,-__ 302 @ e Sefdsai §1af2 30 2! Aftd 68% BIF, U UAal Tl &ed £,
‘ ]’ at seftof o1l 19t aredt ssfsa s wfdera 2 2

8 Yo | co (A)15

= 22xat
QA 3y | (B) 20
TSor<E& 150 (c)25
oo
& fa—
lo2_
— o
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Q18. In a class, 69% of the students are boys and rest are girls. There are
152 more boys than girls. If 52% of the students pass an examination in

which 96 are girls. Find the percentage of boys who did not pass the
examination as compared to total number of girls in the class.

TS Bl A 69% BT ¢ aT 2 BIATC §1 BIal & & Braisi & 152 3fdes 2|
af? 52 fAareff fAerat 96 BIANE €, veh udten & 3dfor 81 €, at o Bransi i
d&m & deof A fdaa ufdera o1a uéien & (=il ge 2

(A) 12.68% (B) 90.32%

(C)132.25% (D) 133.33%




